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Uitwerkingen 

Hoofdstuk 14 

Antwoord 1    

 

 

Antwoord 2    

a. 

  m = 0,500 g;  σm = 0,000141 g; V = 250 mL; σV = 0,05 mL 
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= 0,00000004 

𝑉 ∗ 𝐶 ∗ 𝑀 = 𝑚 → 𝐶 =
𝑚

𝑉 ∗ 𝑀
 

 

 C = 0,05 mol/L;  σC = 3,441.10-4 * 0,05 = 1,73.10-5 mol/L 

b. 

   m = 0.250 * 0,0500 * 400 = 5,00 g;  σm = 0,000141 g; V = 250 mL; σV = 0,05 mL 
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𝑉 ∗ 𝐶 ∗ 𝑀 = 𝑚 → 𝐶 =
𝑚

𝑉 ∗ 𝑀
 

 

 C = 0,05 mol/L;  σC = 2,020.10-4 * 0,05 = 1,01.10-5 mol/L 

 

 

 

𝜎𝑇𝑜𝑡𝑎𝑎𝑙 = √𝜎2 + 𝜎2 + 𝜎2 + 𝜎2 + 𝜎2 = √22 + 22 + 22 + 22 + 22 = 4,5 mL 
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Antwoord 3    

l = 70 cm; σl = 0,02; T = 1,67 s; σT = 0,01 s  

  

 

𝑔 =  
4𝜋2𝑙

𝑇2 =
4𝜋2 ∗ 0,70

(1,67)2 = 𝟗, 𝟗𝟏 𝐦. 𝐬−𝟐 

σg = 9,91 * 0,01198 = 0,12 m.s-2 

 

Antwoord 4    

a. d = 5 mm;  σd = 0,2 mm 

𝑉 =
𝜋𝑑3

6
=
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6
= 𝟔𝟓, 𝟒 𝐦𝐦𝟑 
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𝑉
=

𝜎𝑑3

𝑑3 = |3 ∗
𝜎𝑑

𝑑
| = |3 ∗

0,2

5
| = 0,12  →   𝜎𝑉 = 0,12 ∗ 65,4 = 𝟕, 𝟖 𝐦𝐦𝟑 

 

b. ρ = 3,0 g.cm3; σρ = 0,2 g.cm3 

m = ρ * V = 3,0 * 0,0654 = 0,196 g = 196 mg 

 
σm = 0,14 * 196 mg = 27 mg 

 


